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3HQHOLWLDQ� LQL� GLODNXNDQ� GL %DGDQ� 3HQGDSDWDQ .DEXSDWHQ� 3HVLVLU� 6HODWDQ��
$GDSXQ�WXMXDQ�GDUL�SHQHOLWLDQ LQL�XQWXN�PHQJHWDKXL�.RQWULEXVL�3DMDN�3HQHUDQJDQ�
-DODQ� �33-�� WHUKDGDS� 3HQGDSDWDQ� $VOL� 'DHUDK �3$'� 3HPHULQWDK� .DEXSDWHQ�
3HVLVLU�6HODWDQ DJDU�ELVD�VHEDJDL�EDKDQ�DFXDQ�XQWXN�SLKDN�WHUNDLW�GDODP�PHQJHOROD�
SHQGDSDWDQ�SDMDN�GDHUDK�GDUL�3DMDN�3HQHUDQJDQ�-DODQ��33-���

3HQHOLWLDQ LQL� EHUEHQWXN� SHQHOLWLDQ GHVNULSWLI�� 'DWD� GLNXPSXONDQ� PHODOXL�
WDQ\D�MDZDE�GHQJDQ�NDU\DZDQ�WHUNDLW�GDQ�MXJD�GLSHUROHK�GDUL�VXPEHU�VXPEHU�\DQJ�
WHODK� DGD� \DLWX� GDUL� ODSRUDQ� UHDOLVDVL� DQJJDUDQ� SHPHULQWDKDQ� .DEXSDWHQ� 3HVLVLU�
6HODWDQ�VHODPD�WLJD�WDKXQ�WHUDNKLU�GDUL�WDKXQ�����������
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�33-�� WHUKDGDS� 3HQGDSDWDQ� $VOL� 'DHUDK� �3$'�� 3HPHULQWDK� .DEXSDWHQ� 3HVLVLU�
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QDPXQ�.RQWULEXVL�33-�WHUKDGDS�3$'�PDVLK�VDQJDW�NXUDQJ��VHKLQJJD�SHUOX�DGDQ\D�
HYDOXDVL� %DGDQ� 3HQGDSDWDQ� GDQ� 3HPHULQWDK� .DEXSDWHQ� 3HVLVLU� 6HODWDQ� GDODP�
PHPXQJXW� GDQ�PHQJHOROD� SHQJDORNDVLDQ�33-� OHELK� EDLN� ODJL�� 7LQJNDW� HIHNWLILWDV�
SDGD�WDKXQ�����������PHQJDODPL�SHQLQJNDWDQ�GDUL��������� PHQMDGL�����������
EHJLWX�MXJD�NRQWULEXVL�\DQJ�GLEHULNDQ�NHSDGD�SHQHULPDDQ�SDMDN�GDHUDK�PHQJDODPL�
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SHQXUXQDQ�\DLWX������ PHQMDGL�������
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